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1. Decide which of the following are correct P programs.

(a)

{ print x ; { print y ; } }

is correct.

{ifCx) 5 5}

is correct.

{x=x+1; print x ; }

is not correct - the brackets arround x + 1 are missing.
{ print y }

is not correct — the ; after print is missing.

{while (z) {x=(Cx+1); }printy; }
is correct.

{{{}2}?}

is correct.

{ print (0 ) ; %

is not correct — correct would be { print 0 ; %}
{if ( x=0) print x ; }

is not correct — x = 0 is not an expression.

print x ;

is not correct — every program starts with { and ends with }.
{x=(C0); 1}

is not correct — ( 0 ) is not an expression.

{ while ( x ) { } while (y ) {} 2}

is correct.
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